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1. Write your Roll No. on the top immediately on receipt of this question paper.

2. Attempt five questions in all.

3. Question Number I is compulsory.

4. Attempt any four questions from Question No. 2 to 8.

5. All questions carry equal marks.

6. Answers may be written either in English or in Hindi; but the same medium
should be used throughout the paper.
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I . Attempt any two :-

lrerl+et.- * TdI{dIt qnqt dfrg r

2. Explain determination of equilibrium GDP in three sector economy

expenditure approach.

srq-qq Eedu t,I scfr{ c'* ge fi-t *fti
qnqrdfug r

3. Define money. Explain the

nadvfrnfutdfre rga*
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(7 .5+7.s)

(a) Explain circular flow of income in a four sector economy.

(b) Explain the relationship between MPC and MPS, using diagrams.

(c) Explain the speculative demand for money.

(d) How does government expenditure affect equilibrium level of GDP ? Explain

using appropriate diagram.

ffiA*stiflfts:

(c.) c-fi qR *ftq ff{qqe{r+ cnq + Tfrq q-qro d qr<<I d&g r

(c) ffi o.r sc*rr ffi+ Es NPc Yq MPs + Aq ttu d qrsr dfuq t

(rr) 161 3hq + frv gn d {rr r

(v) rc+rt qc fr cRil{T rrgkf, cDP K( * ftT v-on sqlfrfr o'ctr * ? srgm

ftftq *
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5.

3

Explain income method of estimation of GDp. What economic activities are notincluded in GDp ? 
(1Gt-5)

cDp sFritr{ffi Bilqfrhdqnqrfrfrv t6hfr Bnffis'frqr$d cDp+sfuft_d
Tfifuqrwdri ?

!f What is net export fi.rnction ? Explain with the help of diagram.

ga fuld sFrt wr i ? kqrh..d * wrqar t qnqr dfrq r

(15)

6 (a) Given the following :

Consumption fiinction

Taxes

Invesknent

Govemment expendifure

Exports

Imports

Disposable income

Find

(i) Equilibrium level of income.

(ii) Equilibrium level of consumption.

(iii) Equilibrium level of savings.

(iv) Disposable income.

(v) Net exports.

C=60+0.6y
d

T = Rs. 40 crores

I = Rs. 500 crores

G = Rs. 100 crores

X = Rs. 20 crore

M = Rs. 40 crores

Yo = Y-T

(2)

(2)

(2)

(2)

(2)
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=40 6G rqa

= 500 6G {q}

= 1006tg rG

=206G Ect

=40 6G rct

on function ?

(2)

(3)

@) Saving function is given bY ;

5=-100+O'25Y

(a) f{qfrRq( ftqr €sr ?-

scqllsa{ (c) =60+0'60Yd

Q Calculate the value of multiplier'

0i) What will be the corresponding 
consumpti

6{ (r)

ftt$ (l)

mqrtqq (a)

ffd( (x)

$rqrd (\^)

€{

ar< dBs -

(i)r{R( srq<tr

(ii) {gRffi3qitrr<t I

(iii) {$( €( <t I

(iv) t+{e',GAra srqr

(v) ga ffit t
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(r*) ffiRa-r qq-o s-q-r l.-

S=-100+0.25Y

(i) Um * Xe d rrsm Sfrq t

(ii) Err+ fl$c acftr v-ffiHT *qr ?

7. (a) If the central bank wants to expand money supply, how it will

use the instruments to increase the money supply ? Explain your

arswer.

(b) What will be the amount of credit created in the economy if the

amount of initial deposits with the bank is Rs.20,000 crores and

required reserve ratio is 20 percent ? What will be the effect on

credit creation if the Central bank reduces required reserve ratio to l0

percent ? (9,6)

(m) qR Hc +t, nfu{Br q 
Ucr fffi * s-dr{ qrmr i * 116 {Er tffi * s-qr+ +

sr+..<fr mr oqffi{' q-fiR frtrn r lrq}tffi * qrcqrdfrq t

(re) fttt.{mFroqtl 2oo0o E&EqA* efrt sMc6-{dq1vr( zo vftvra*

n] q+q{e{r { frrfir mq gfrrd +rn I qE #q fo, :r*-q dqr$rd 6} qd6r to

cfr{rd 6"t t fr srte guor w wr wn< t}n ?

8. (a) Explain paradox of thrift.

(b) What is fiscal Policy ? How fiscal policy does has a multiplier effect on

the economy. Explain with an appropriate diagram. (7,8)

P.T.O.
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(o) r-+o + ff&nq( d qr<qr dfuq r

(r+) rrw+lfu {ft wr * ? {d-+Sq ffi mr s+qfiqr vt $F6.cqn *t +dr i ?

rqgm We dt qcr.rf,r t qr@r dfuq r
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